JL_

Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

1) 34.051-86.112=
2) 38-(-73)=
3) 26.6-49=
4) 45.839 + (-71) =
5) 55-39.046 =
6) 92-25=
7) 24+ (-49.005) =
8) 45.3+ (-60.06) =
9) 70.734+83=
10) 57.07 +37=
11) 90-(-22) =
12) 75.029 - (-9.49) =
13) 89-92.007 =
14) 22.001- (-78.01) =
15) 35.003 - 11.344 =
16) 64.6 +(-96.2) =
17) 60-72=__
18) 8L7-(-92) =
19) 59+ (-85) =

20) 23 +58.82=
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ﬂh Multiplying and Dividing Rational Numbers Name.Answer Key

Solve each problem. Answers
1) 34.051-86.112= -52.061

1 -52.061
2) 38-(-73)= 111

5 111
3) 26.6-49= -224

3 -22.4
4) 45839+ (-71)= -25.161

4 -25.161
5) 55-39.046= 15954

5, 15.954
6) 92-25= 67

6. 67
7) 24+ (-49.005) = -25.005

7. -25.005
8) 453+ (-60.06)= -14.76

8. -14.76
9) 70.734+83= 153.734

o. 153.734
10) 57.07+37= 94.07

10. 94.07
11) 90-(-22)= 112

11. 112
12) 75.029 - (-9.49) = 84.519

1. 84519
13) 89-92.007= -3.007

13, -3.007
14) 22.001-(-78.01) = 100.011

1. 100.011
15) 35.003-11.344= 23.659

5. 23.659
16) 64.6+(-962)= -316

16. -31.6
17) 60-72= -12

17. -12
18) 817-(-92)= 1737

18, 173.7
19) 59+ (-85)= -26
) = N
20) 23+5882= 8182

20. 81.82
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JL_

Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

Answers

15.954 112
-14.76 -52.061
94.07 84.519

-25.005
153.734
67

-22.4
-25.161

111
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12)

34.051 - 86.112 =

38- (-73) =

26.6-49=

45.839 + (-71) =

55-39.046 =

92-25=

24 + (-49.005) =

45.3 + (-60.06) =

70.734 + 83 =

57.07+37=

90- (-22) =

75.029 - (-9.49) =

10.

11

12.
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